103 F s AN (ER ~ h)REER

SHEEAGEER A B
1 3 ARUEH IR
k] oA TR
TR REEDE A=1+2+. N
PNt 592 11,700 8,811 21,103 681




E F G H
EEanE ki FHeREEEL LT YN FEESR
(FREFEE) H=C/G
E=C+D G=E+F (%)
21,784 6,557 28,341 76.86




103FFZ LN (FE ~ Th) RS A1
R INCE L A B C
1 2 B e ) P
PRBLEL %755
{TEUE 1) oh B 5 (R RIHEDE | A=1+2+..N C=A+B
R EL4 2,505 7,434 9,939 556 10,495




D E F G H
CYEAR EEanE ki FHeR 8L LT 2PN FEESR
z ¥ (R EEEE) H=C/G
D=E-C E=C+D G=E+F (%)
10,496 3,517 14,013 74.89




103FFZ LN (FE ~ Th) RS A1
R INCE L A B C
1 2 B e ) P
FEE B
{TEUE 1) oh B 5 (R RIHEDE | A=1+2+..N C=A+B
TK_E4T 9,451 19,221 28,672 1,466 30,138




D E F G H
CYEAR EEanE ki FHeR 8L LT 2PN FEESR
z ¥ (R EEEE) H=C/G
D=E-C E=C+D G=E+F (%)
30,139 12,053 42,192 71.43




103FFZ LN (FE ~ Th) RS A1
R INCE L A B C
1 2 B e ) P
(EEAE RO
{TEUE 1) X A=1+2+..N C=A+B
B4R 24,365 15,627 39,992 1,703 41,695




D E F G H
CYEAR EEanE ki FHeR 8L LT 2PN FEESR
z ¥ (R EEEE) H=C/G
D=E-C E=C+D G=E+F (%)
41,699 15,656 57,355 72.70




103FEF MMV GR - ) RBE R NS HE

[ INCER A B C D
1 BREEE S P EERIE
MRS =¥
1T EE A RIS A=1+2+..N C=A+B D=E-C
Hr AR 15,198 15,198 4,213 19,411




-

E F G H
IR FERZEEL BN PR
(FHEEED) H=C/G
E=C+D G=E+F (%)
19,412 7,119 26,531 73.16




103FFZ LN (FE ~ Th) RS A1
R INCE L A B C
1 2 B e ) P
5 &
{TEUE 1) B i th K& | A=1+2+..N C=A+B
K ARGE 11,972 6,020 17,992 728 18,720




D E F G H
CYEAR EEanE ki FHeR 8L LT 2PN FEESR
z ¥ (R EEEE) H=C/G
D=E-C E=C+D G=E+F (%)
18,721 7,584 26,305 71.17




103F A AR(R ~ )R B ps A\ f
EEEY A B C
2 AR IR RS
Btigs
T B A REHEDE | A=1+2+.N C=A+B
PR 8,683 9,825 440 10,265




D E F G H
CYEAR EEanE ki FHeR 8L LT 2PN FEESR
z ¥ (R EEEE) H=C/G
D=E-C E=C+D G=E+F (%)
10,265 2,745 13,010 78.90




103FFa MM (PH ~ T

JRERFENGHEE
D

[ INCER A B C
1 BREEE S P EERIE
2R =¥
1T EE A RIS A=1+2+..N C=A+B D=E-C
M40 11,039 11,039 1,876 12,915




-

E F G H
IR FERZEEL BN PR
(FHEEED) H=C/G
E=C+D G=E+F (%)
12,915 4,072 16,987 76.03




103FE 25 AT(FH - Th) SRR A1
= NS EIE T A B C
1 2 HREEE SRR TR
F4nak FBKTAS
{TEUE 1) T i [RE | A=1+2+..N C=A+B
i eit] 16,163 5,589 21,752 1,256 23,008




D E F G H
CYEAR EEanE ki FHeR 8L LT 2PN FEESR
z ¥ (R EEEE) H=C/G
D=E-C E=C+D G=E+F (%)
23,010 10,622 33,632 68.41




103 F s AN (ER ~ h)REER

A NS A B
1 2 3 BREEH S )
Eiispl Pek e A ek 1| g
{TEE EXifb# | A=1+2+...N
Ay 1,741 6,873 7,315 15,929 542




E F G H
EEanE ki FHeREEEL LT YN FEESR
(FREFEE) H=C/G
E=C+D G=E+F (%)
16,471 4,766 21,237 77.56




103 F s AN (ER ~ h)REER

A NS A B
1 2 3 BREEH S )
=AY JUNES 2B
1T R REHSE A=1+2+..N
AT 7,112 10,180 192 17,484 452




E F G H
EEanE ki FHeREEEL LT YN FEESR
(FREFEE) H=C/G
E=C+D G=E+F (%)
17,936 4,363 22,299 80.43




103FE 25 AT(FH - Th) SRR A1
= NS EIE T A B C
1 2 HREEE SRR TR
ZEHM RN
{TEUE REESE [ A=1+2+..N C=A+B
eSS 6,232 11,839 18,071 853 18,924




D E F G H
CYEAR EEanE ki FHeR 8L LT 2PN FEESR
z ¥ (R EEEE) H=C/G
D=E-C E=C+D G=E+F (%)
18,925 5,173 24,098 78.53




103FE 25 AT(FH - Th) SRR A1
= NS EIE T A B C
1 2 HREEE SRR TR
EGE BRZNE
1T B R B A=1+2+...N C=A+B
e ME 6,993 7,256 14,249 263 14,512




D E F G H
CYEAR EEanE ki FHeR 8L LT 2PN FEESR
z ¥ (R EEEE) H=C/G
D=E-C E=C+D G=E+F (%)
14,512 2,468 16,980 85.47




103FFZ LN (FE ~ Th) RS A1
R INCE L A B C
1 2 B e ) P
FHE TRHERY,
{TEUE 1) B i th K& | A=1+2+..N C=A+B
RE 15,316 8,336 23,652 1,170 24,822




D E F G H
CYEAR EEanE ki FHeR 8L LT 2PN FEESR
z ¥ (R EEEE) H=C/G
D=E-C E=C+D G=E+F (%)
24,824 13,179 38,003 65.32




103 F =M (PR ~ ) REFE AL
B

= NS EIE T A C
1 2 HREEE SRR TR
TFIE5A NrA=SAS
{TEE A=1+2+..N C=A+B
TR 12,982 10,303 23,285 706 23,991




D E F G H
CYEAR EEanE ki FHeR 8L LT 2PN FEESR
z ¥ (R EEEE) H=C/G
D=E-C E=C+D G=E+F (%)
23,001 6,734 30,725 78.08




103FE 25 AT(FH - Th) SRR A1
= NS EIE T A B C
1 2 HREEE SRR TR
MIEIR B 1
{TEE R T i & | A=1+2+..N C=A+B
ZE R4 4,743 2,862 7,605 354 7,959




D E F G H
CYEAR EEanE ki FHeR 8L LT 2PN FEESR
z ¥ (R EEEE) H=C/G
D=E-C E=C+D G=E+F (%)
7,959 2,100 10,059 79.12




103FEF MMV GR - ) RBE R NS HE

= NS G A B C D
1 BREEE S P EERIE
= A =¥
{TEE A=1+2+..N C=A+B D=E-C
K HE4T 2,181 2,181 566 2,747 0




-

E F G H
IR FERZEEL BN PR
(FHEEED) H=C/G
E=C+D G=E+F (%)
2,747 1,045 3,792 72.44




103FFZ LN (FE ~ Th) RS A1
= NS EIE T A B C
1 2 B e ) P
FER (WAL=
TR A =8 R&E | A=1+2+..N C=A+B
] B L 140 1,395 1,945 3,340 69 3,409




D E F G H
CYEAR EEanE ki FHeR 8L LT 2PN FEESR
z ¥ (R EEEE) H=C/G
D=E-C E=C+D G=E+F (%)
3,400 1,001 4,500 75.76




